Z Multiplier les nombres décimaux par des puissances
% & de dix

Nom: Date: Note:
5,472 x 100 = 6, 626 x 1000000 =
7,015 x 1000000 = 1,43 x 100000 =
5, 54 x 100000 = 9, 009 x 1000000 =
8,952 x 1000000 = 10,405 x 1000 =
3, 132 x 10000 = 9,764 x 10000 =
9,794 x 100 = 7,804 x 1000 =
5,018 x 10000 = 10,013 x 1000 =
5,339 x 10000 = 1,228 x 1000 =
1,738 x 1000 = 7,851 x 100 =
8,234 x 100000 = 1,355 x 1000000 =
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‘Q Multiplier les nombres décimaux par des puissances
% & »\‘ de dix

Nom: Date: Note:
5,472 x 100 = 547.2 6, 626 x 1000000 = 6626000
7,015 x 1000000 = 7015000 1,43 x 100000 = 143000
5, 54 x 100000 = 554000 9, 009 x 1000000 = 9009000
8,952 x 1000000 = 8952000 10, 405 x 1000 = 10405
3, 132 x 10000 = 31320 9,764 x 10000 = 97640
9,794 x 100 =979.4 7,804 x 1000 = 7804
5,018 x 10000 = 50180 10,013 x 1000 = 10013
5,339 x 10000 = 53390 1,228 x 1000 = 1228
1,738 x 1000 = 1738 7,851 x 100 = 785.1
8,234 x 100000 = 823400 1,355 x 1000000 = 1355000
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